solve by factoring 



a^2- 6a +9=0 
Solution. As 
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then

             a-3=0  or  a-3=0

So, a=3 is the unique root.



Use the even -root prpoerty to solve each question 

x^2= 9/4 
Solution. 
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,  b y the even -root property, we have

          x=3/2  or  x=-3/2


(x-3)^2=16 
Solution. 
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,  b y the even -root property, we have

          x-3=4  or  x-3=-4

So,

         x=7  or  x=-1


(w-3/2)^2=7/4 
Solution. 
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,  b y the even -root property, we have
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(w+2/3)^2=5/9 
Solution. 
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,  b y the even -root property, we have
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Find the perfect square trinomial whose first two terms are given. 
w^2-5w 
Solution.  
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p^2+6/5p 
Solution.  
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factor each perfect square trinomial. 
y^2-5y+25/4 
Solution.
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t^2+3/5t+9/100 
Solution.
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solve by complteing the square 
3x^2-6x=24 
Solution. We can divide both sides by 3 first, we get
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i.e.,
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By the even -root property, we have

       x-1=3  or  x-1=-3

So,

     x=4  or  x=-2

q^2 +5q=14 
Solution. As q^2 +5q=14 , we have
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So, by the even -root property, we have

       q+5/2=9/2  or  q+5/2=-9/2

So,

           q=2  or  q=-7

x^2+4x=6 
Solution. As x^2+4x=6, we have
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So, by the even -root property, we have
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solve each equation by appropraite method 
1/x^2+3/x+1=0 
Solution. We can get the following from 1/x^2+3/x+1=0:
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So, by the even -root property, we have
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Finf all real or imaganary solutions to eacj equation. 

4x^2+25=0 
Solution. Since 4x^2+25=0, we have
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5t^2+4t-3=0
Solution.  As 5t^2+4t-3=0, we multiply by (1/5) on both sides, we get
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i.e.,
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Then by the even -root property, we have
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